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BACHELOR OF SCIENCE (B.Sc.)
Term-End Examination

December, 2022

LIFE SCIENCE

LSE-O1 : CELL BIOLOGY

Time : 2 hours Maximum Marks : 50

Note: Question No. 1 is compulsory. Attempt any
four questions from Questions No. 2 to 6. Draw

neat and labelled diagrams, wherever necessary.

1. (a) Fill in the blanks with appropriate words : 5x1=5

(i)  Chloroplasts found in cells

contain the pigment

(i1) During from the cell,

secretory vesicle fuses with

(i1i) Ionic bonds are formed by transfer of
between charged

atoms.
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(iv) A  semipermeable membrane is
permeable to but not

permeable to

(v) A complete catalytically active enzyme
along with its cofactor is called
and its protein part is

called

(b) State one function of each of the following : 5x1=5
(i) Enzyme hexokinase
(ii)) Coding strand of DNA
(iii) Insulin
(iv) DNA endonuclease

(v) Blood platelets

2. (a) Explain the concept of magnification and
resolution in the context of compound
microscope. How can resolving power of a

microscope be increased ? 5

(b) Give two examples each of monosaccharides
and amino acids, their chemical structure
including  alternate  forms, wherever

applicable. 5
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3. (a) With the help of an example briefly explain
the process of self-assembly of a

supra-molecular structure. 5

(b) Diagrammatically show different modes of
action of transmembrane  transport

molecules. 5

4. Differentiate between any #wo of the
following : 2x5=10

(a) Feedback  regulation and  Allosteric

regulation of enzyme activity
(b) Glycogen synthesis and Glycogen breakdown
(c) Prokaryotic and Eukaryotic ribosomes
5. (a) Briefly describe the events of cell cycle and
determination of cell cycle time. 5
(b) Draw labelled diagrams showing complete
mitotic events. 5
6. (a) List five types of plant tissues and explain
the function of any one of them. 5

(b) Outline the steps involved in the formation

of plant cell wall. 5
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(iv) IeqTe feeeh % foru
T A feh & fou s
Bt 7 |

(v) T U IUGH €9 & HAfhT TEH
A9 HERNH & Y
HEAMT 3 I IR WET WM

HEAT 7 |

(@) fmfafea @ @ g 1 T & 9q18C ;. 5x1=5
(i)  TTEH BFEIhIEE
(i) ST H DT TS (FoE
%)
(iil) o
(iv) SLT.T TeRYfereus
(v) %R afgeh] (wrected)

2. (%) UIH geucEll o W # I@dq AR fawed
%l FeheuT I THISY | FEAeI i fawed
FHAT 1 hY TSHAT ST Tl 3 ? 5

(@) HHEHUES! 3 UHHT Sl H F TS o Q)
IR, ITeh! (U T IR Iehicush

91 %I, A AR 7, a1 fafEx | 5
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(T) IR IR Jhiesh Tsam

5. (%) HIHT Tk <l TeATST TR HIfNEHT ok
gm & Tyt 1 gfer oA Fhifse |

(@) e fawrse s |t seist @l gwid Ju
gAmIfeRa o=l bt FAT3T | 5

O,

6. (%) UM YR % UIGY Haehi hl FT ST IHR
=0 9 ford) Tk & S i s K |

(@) uew et & fFfta g@ § ofmfaa

=N i AT 9 § afvig I | 5

O,
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